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The majority are experts — 37 I°R%P2 29

OVERVIEW

The question of 70X P2 11°XW N1 P2 172X’ 1s (not a continuation of s"72X question
on the mwn of w"p, but rather it is) referring to the ruling of the 1227 (who follow
the view of w"2 that 11501 1°X is 7N) that it is permitted to be nNawa 7%nna va,
the question is why do we permit everyone; we should only permit those who are
77072 7°X°P2 but not those who are not 1PX°p2 since it is a 1"09. The X771 answered
that 37 7°X°P2 217. Our MdOIN first explains how 7°X°2 217 answers the question, and
then discusses the veracity of this statement that 377 X2 217.
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And regarding each individual there is a reasonable doubt that he is part of the
majority who are 1°X°p3, and therefore all are permitted to be nawa 75nna Sy

mdoIn sets up the grounds for a question:
= 17012 PPN>P1 12997 NaN ‘ynawn

It appears from this X7n3 that the majority of people are 71>w2 PRIP2.

nooIN asks:
- 37!)11197 1993 N92YY NDINA (owvr 3,1 91 DNINT /A 7992 19299KRT 9NN ON)

And if you will say; for we learnt in the second P99 of m3am ndon regarding a
known 9102 who is pregnant; what is her status regarding marrying a 9173 375 —

mooIn explains how is that we assume that she is still a 77102 if she is n72Wwn -
- 4‘1‘11) N NN KDY AN 29 DY MPTAY D

For instance that they tested her on the opening of a barrel of wine and there

was no scent of wine coming from her mouth. The &713 there explains the query -
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Are we concerned for what »Xw»w said that, I can be ®¥2 many n»°v2 without
extracting 0°71n2 07 (and she is therefore 3"70% 770X since she is a 77W32), or
perhaps she became pregnant in a bath without having any relations to a man (and she

" See “Thinking it over’.

? The term ¥nwn would seem to be inappropriate, since the X3 states clearly that 17 1X°p2 211,

? The X1 there states 2173 17197 712, who must marry only a 7202

* See later on 2, that we can verify whether a woman is a 7912 or not by this test.

> A man may have issued ¥77 nN20w in a bath, and later this 79102 absorbed it in the bath and became pregnant.
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is therefore 3"779% NN since she is still a 79102 and not a 773, even though she is pregnant).
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And the X3 concludes that this what »W8»w said (that he can be %312 without o7)

is uncommon and we assume that she was vanXa 772vn1; seemingly indicating that it is
uncommon to be i1°°v772 312 without being a7 XXM —

mooIn offers another example testifying to the rarity of 7»vi2 n%°va:
- NYD 19939 297 SUNIIY INY 9INP ) (owra, 1o 91 NTYT NINA PH9IY

And in the last p=5 of 1773 noon the X 1) also states; ‘9Xmw is different for he is

very capable, indicating again that it is unusual to be 7¥12 without 2°2102 07 -
- 17 PNOPA 27T NI 1IN N

But here the X 1) states that the majority of people are J°8°p2; how can we
reconcile these seemingly contradictory mani?!

MooIN answers:
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And one can say; that »Xw»w was able to be »°v2 a complete 782 that will

impregnate a woman without extracting 0°7102 27 -
= N3N YN PN NPVNHA AN

However by a ‘regular’ 19°u7 (regarding which the X313 here states 17 1X°P2 210) a
woman will not become pregnant from such a 7x°2 with 707 -
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And therefore by that case in 733m noon (where the 77102 was pregnant) there is no
concern that she became pregnant through a regular 7%w7; she could become
pregnant only with the type of 7>u7 which »R12% was capable, and that 7071 is uncommon.

SUMMARY
We assume that each person is part of the 7»vn2 1°X°p2 217, Only %X was able to
impregnate a woman 10772,

THINKING IT OVER
Can one who does not know’ that he is 772 *2 be nawa 7%mna »va (by assuming
he is part of the 217)?!°

® The xm3 there cited the aforementioned statement of YX7w that he can be 131 512 without a7
7 See footnote # 1.
8 See v mx 7"o10.
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